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QUESTION 1

Which statement about an entity instance lifecycle is correct? 

A. A new entity instance is an instance with a fully populated state. 

B. A detached entity instance is an instance with no persistent identity. 

C. A removed entity instance is NOT associated with a persistence context. 

D. A managed entity instance is the instance associated with a persistence context. 

Correct Answer: D 

 

 

QUESTION 2

A developer wants to use the Java Persistence query language. Which two are true? (Choose two.) 

A. A WHERE clause is required in every query. 

B. The WHERE clause can restrict the scope of a delete operation. 

C. The WHERE clause can be used to order the results returned by a query. 

D. The WHERE clause is used to determine the types of objects to be retrieved from a persistent store. 

E. The WHERE clause is used to restrict the contents of a collection of objects that are returned from a query. 

Correct Answer: BE 

 

 

QUESTION 3

Using bean-managed transaction demarcation, under which two circumstances must the container roll back a
transaction? (Choose two.) 

A. A stateful session bean invokes UserTransaction.getRollbackOnly. 

B. A stateful session bean throws an uncaught application exception from a business method. 

C. A stateful session bean begins a transaction in a business method but does NOT complete it before returning. 

D. A stateless session bean begins a transaction in a business method but does NOT complete it before returning. 

E. A message-driven bean begins a transaction in a message listener method but does NOT complete it before
returning. 

Correct Answer: DE 
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QUESTION 4

Given: 

A session bean Foo uses container-managed transactions The container throws a
javax.transaction.TransactionRolledBackException when the doStuff method runs. Which transaction attribute can the
doStuff method have for this to occur? 

A. NEVER 

B. MANDATORY 

C. REQUIRES_NEW 

D. NOT SUPPORTED 

Correct Answer: B 

 

QUESTION 5

A developer writes an interceptor class called Foolnterceptor containing the following Aroundlnvoke method: 

11.

 @Aroundlnvoke 

12.

 public Object intercept(lnvocationContext ctx) { 

13.

 return "intercepted"; 

14.} 

Foolnterceptor is applied to a business method in a stateless session bean: 

11.

 @lnterceptors(Foolnterceptor.class) 

12.

 public String testzero(int i) { 

13.

 return (i == 0) ? "zero""not zero"; 

14.
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 } 

Which describes the result when a client invokes the test zero method with a value of 1? 

A. The intercept method is NEVER invoked. 

B. The clientreceivesareturnvalueof "zero". 

C. The client receivesa returnvalue of "not zero". 

D. The client receivesareturn value of "intercepted". 

Correct Answer: D 
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